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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP5 0
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P5

BYE) | GEBRAK ) | ERE(EA/K | EREE (/R [ XS R

08:05 278 150.0 5.88 FA| 7HA@08:05 AFFEF (KRAEREE)
08:55 278 150.0 5.88 FA| FHA@08:55 KRENFZF (ARFIEES)
09:45 278 150.0 5.88 PA| FnHA@09:45 KHENIEF (KRFAEREES)
10:35 278 150.0 5.88 FA| FnHA@10:35 RFFEF (KRAERE)
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12:15 278 150.0 5. 88 PA| FnfRe12:15 KHEiEF (KRFEAERES)
13:05 278 150.0 5.88 f1|  FHEA@13:05 REFZF (KRS
13:55 278 150. 0 5.88 f| FHR@13:55 KREMIERF (RALESR)
14:45 278 150.0 5. 88 /M|  Fiffe14:45 KEiEF (RFEERES)
15:45 278 150. 0 5.88 M| FiHe15:45 KREEF (RAEBE)
2it] 2780.0 (10)%) 1500. 0 7 3H%EC: 2080.0, PH: 6.5

unusual large postFgEt from yesterday (464), set to 450.0 ml.
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BTiE) | GEBIATK (F) | EME (EH/) | BEBRERE (/X)) | XK EFRF
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2t 1946.0 (7%) 1050.0 3 KEC: 2080.0, PH: 6.5
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EREBIEC (2615.0) SEAEIY (2080.0) RERK, FHHE.
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10:20 278 150. 0 5.88 |% 5| (515010:20 B#l (& FHiEReE)
11:05 278 150. 0 5.88 |% | (51&011:05 B5l (& FiEReE)
11:50 278 150. 0 5.88 |% | (51&011:50 B#l (& FiERee)
12:35 278 150. 0 5.88 |% | (515012:35 B&l (kL)
13:20 278 150. 0 5.88 H {E215013:20 B (A 1L Bkee)
14:05 278 150. 0 5.88 H {E215014:05 B (o 1L Bkee)
14:55 278 150. 0 5.88 H {215 014:55 B (o 1L Bkee)
15:55 278 150. 0 5.88 |% 7| (515@15:55 B5l (& FiERee)
23F[2780.0 (100%) 7500. 0 32 REC: 2080.0, PH: 6.5




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

FRV (ml plant-1)
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108 Warning: [col ['FVI',| "FVO’'] missing
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m=460, FV0=0 m=490, FV0=0 m=520, FV0=0

—— MW | L, o] —— MW |, o] —— MW | L, o] —— MW
31.5 - 31.5 - 31.5 -
31.0 - 31.0 - 31.0 -
D 30_5_0—0—0—0—0—0—0—0—0—0—0—0—0—0—0 30_5_0—0—0—0—0—0—0—0—0—0—0—0—0—0—0 30_5_0—0—0—0—0—0—0—0—0—0—0—0—0—0—0
30.0 - 30.0 - 30.0 -
29.5 - 29.5 - 29.5 -
600 800 1000 460 465 470 490 495 500 520 525 530
m=560,m FV0=0 m=595,m FV0=0 m=630,m FV0=0 m=665,m FV0=0
—— MW | L, o] —— MW | L, o] —— MW | L, o] —o— MW
31.5 - 31.5 - 31.5 -
31.0 - 31.0 - 31.0 -
30.5 - 30.5 - 30.5 -
30.0 - 30.0 - 30.0 -
29.5 - 29.5 - 29.5 -
560 565 570 595 600 605 630 635 640 665 670 675
m=695,m FV0=0 m=725,m FV0=0 m=755,m FV0=0 m=785,m FV0=0
—— MW | L, o] —— MW | L, ] —— MW | L, o] —o— MW
31.5 - 31.5 - 31.5 -
31.0 - 31.0 - 31.0 -
30.5 - 30. 5 30. 5
30.0 - 30.0 - 30.0 -
29.5 - 29.5 - 29.5 -
695 700 705 725 730 735 755 760 765 785 790 795
m=815,m FV0=0 m=845,m FV0=0 m=875,m FV0=0 m=905,m FV0=0
o MW 3504 o MW 3504 o MW 350 - MW
31.5 31.5 31.5
31.0 - 31.0 - 31.0 -
0—0-0—0-0—0-0—0-0—0—0—0-0—0—0 30.5_0—0—0—0—0—0—0—0—0—0—0—0—0—0—0 30.5_0—0—0—0—0—0—0—0—0—0—0—0—0—0—0 30.5_0—0—0—0—0—0—0—0—0—0—0—0—0—0—0
30.0 - 30.0 - 30.0 -
29.5 - 29.5 - 29.5 -
815 820 825 845 850 855 875 880 885 905 910 915
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31.

31.
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m=940, FVO0=0 m=965, FV0=0
01 = VW 30- —— MW
5 31.5 A
0 - 31.0 A
0009000000000 9090 000090000000 009°
5 30. 5 A
0 30. 0 A
5 29.5 A
T T T T T T
940 945 950 965 970 975
m=1055m FVO=0 m
1.0
0. —— MW
0. 8 A
5_
0 - 0.6 -
0009000000000 090
5] 0.4 -
0_
0.2 A
9 Warning: col ["M_E’] missing
T T T 00 T T T T
1055 1060 1065 0.0 0.2 0.4 0.6 0.8 1
m=520,m FV0=0 m=560, FVO0=0
0 1.0
8 0. 8 A
6 0.6
44 0.4
2 0.2
Warning: col ["M_E’] missing Warning: col ["M_E’'] missing
.0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.
m=665, FV0=0 m=695, FV0=0
0 1.0
8 0. 8 A
6 0.6
44 0.4
2 0.2
Warning: col ['M_E’'] missing Warning: col ['M_E'] missing
.0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.

0

32.

31.

31.

30.

30.

29.

m=995, FVO0=0
0 - —— MW
5_
0_
0009000000000 09°
5_
0_
5_
T T T
995 1000 1005
m=460,m FV0=0
0
8_
6_
4_
2_
Warning: col ['M_E'] missing
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=595, FV0=0
0
8_
6_
4_
2_
Warning: col ['M_E’'] missing
.0 T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=725, FVO0=0
0
8_
6_
4_
2_
Warning: col ['M_E'] missing
.0 T T T T

0.0 0.2 0.4 0.6 0.8

1.

32.

31.

31.

30.

30.

29.

m=1025, FV0=0
0 - —0— MW
5_
0_
0000000000000 9°
5_
0_
5_
T T T
1025 1030 1035
m=490,m FV0=0
0
8_
6_
4_
2_
Warning: col ['M_E’] missing
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=630, FV0=0
0
8_
6_
4_
2_
Warning: col ["M_E’'] missing
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=755, FV0=0
0
8_
6_
4_
2_
Warning: col ['M_E'] missing
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.

0



m=783, FV0=0

Warning: col ['M_E'] missing

0.2 0)4 0)6 0.8
m=905, FV0=0

Warning: col ["M_E’] missing

0.2 0)4 0)6 0.8
m=1025, FV0=0

Warning: col ['M_E’] missing

0.0

0.2 0.4 0.6 0.8

1.

m=815, FV0=0

Warning: col ['M_E'] missing

0.2 0f4 0)6 0.8
m=940, FV0=0

Warning: col ['M_E'] missing

0.2 0f4 0)6 0.8
m=1055, FV0=0

Warning: col ['M_E'] missing

0.2 0.4 0.6 0.8

1

0

m=845, FV0=0
.8 1
.6 4
.4
.2 4
Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=965, FV0=0
.8 4
.6 1
.4
.2
Warning: col ["M_E’] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.

0

m=875, FV0=0
.8 1
.6+
.4
.2 4
Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=995, FVO0=0
.8 1
.6
.4
.2 1
Warning: col ["M_E’'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.

0



